MULTI CHOICE QUESTIONS FOR THE WEBSITE FOR “ACCOUNTING 2”

Disk title A22MultiChoice

CHAPTER 2  – ANALYSIS AND INTERPRETATION OF FINANCIAL REPORTS

2.1 Working capital is

(a) Current assets plus non-current assets

(b) Non-current assets less non-current liabilities

(c) Current assets less current liabilities √
(d) Opening Owner’s equity less the closing balance

2.2 Total assets opening balance $200000, closing balance $240000

Owner’s equity opening balance $300000, closing balance $320000 and net profit for the year was $82000. The return on equity ratio is

(a) 26.45% √
(b) 37.27 %

(c) 31.53%

(d) 32.39%

2.3 Using the information in 2.2 the return on assets ratio is

(a) 26.45% 

(b) 37.27 % √
(c) 31.53%

(d) 32.39%

2.4 Current assets total $38000 and it includes inventories of $16000 and prepayments of $500. The current liabilities of $13000 include a bank overdraft of $2000. Calculate the working capital ratio

(a) 1.69:1

(b) 2.92:1 √
(c) 3.45:1

(d) 1.95:1

2.5 Using the information in 2.4 the quick asset ratio is

(a) 1.69:1

(b) 2.92:1 

(c) 3.45:1

(d) 1.95:1 √
2.6 Credit sales are 22% of the total sales of $197000. The accounts receivable opening balance is $5500 and the closing balance $3800. Calculate the accounts receivable turnover in days. (to the nearest day)

(a) 38

(b) 39 √
(c) 40

(d) 41

2.7 Current assets total $38000 and it includes inventories of $16000 and prepayments of $500. The current liabilities of $13000 include a bank overdraft of $2000. Calculate the working capital ratio

(a) 1.69:1

(b) 2.92:1 √
(c) 3.45:1

(d) 2.00:1

2.8 Current assets total $38000 and it includes inventories of $16000 and prepayments of $500. The current liabilities of $13000 include a bank overdraft of $2000. Calculate the working capital ratio

(a) 1.69:1

(b) 2.92:1 √
(c) 3.45:1

(d) 2.00:1

2.9 Current assets total $38000 and it includes inventories of $16000 and prepayments of $500. The current liabilities of $13000 include a bank overdraft of $2000. Calculate the working capital ratio

(a) 1.69:1

(b) 2.92:1 √
(c) 3.45:1

(d) 2.00:1

2.10 Current assets total $38000 and it includes inventories of $16000 and prepayments of $500. The current liabilities of $13000 include a bank overdraft of $2000. Calculate the working capital ratio

(a) 1.69:1

(b) 2.92:1 √
(c) 3.45:1

(d) 2.00:1
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